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( 2 ) 44s.t

(u) Explain briefly lhe follo$ing concepts:

(t) Business fixed investment

(ll) Capiral accounr. j

(hl Assume people o[ the counrD expecr inflarion to be(

equal to 5 percent by the end of the 20th Century but

in fact, prices rise by 20 percent over these ten decades.

Describe ho\ry this unexpectedly high inflation rate would

help or hun the following : 5

(,) Firm that provides a fixed nominal pension when

the worker retires.

(rr) A person taking our a mo(gage in 1950 for 50

years.

k) Suppose the govemment increases the expenditure. Use

the IS-LM model to show the impact of the increase

in government expenditure under two assumptions :

0) The government keeps interest rates constant

through an accommodating monetary policy.

(r) The money stock remains unchanged.

Use suitable diagram 7

. (15) usl

G) Explain whether an exogenous increase in price of oil

will shift the shon-run aggregate ,ilpply curu" o,

aggregate demand. What are the policy options available

for the macroeconomist working with the govemment

to minimise effect of these events on the economy ?

Use a suitable diagram. j
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(b) How is the rate of intercst determined by the demand ( (

and supply of money (assuming no banks in economy)?

What happens to the interest rale if :

(, Nominal income falls.

(3) A4s7
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7. (q) Why are exportq added and imports deducted when we

calculate GDP with expenditure approach ?

( e{)

(q)

(H)

(ir) Central bank chooses for expansionary open market

operations. 5
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(q) Suppose during the year the consumer price index rises

from 150 to 162 and the nominal interest rate is 9

percent. What will be the real interest rate ? 3

(b) Using the quanlity theory of money and the Fisher

equation explain in detail how the rate of groMh in

money affects the nominal interest rate 2 5

(c) Consider a loanable funds market of an economy. The

following equations describe the economy :

Y=C+c+t

Y = 3000

G : 1000

T = 1000
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Does Hlperinflation die a natural death or a stabilization

programme is required ? What are the elements of

stabilization programm€ ? Also explain the costs

associated with such programmes. 5

G) Civen the following information :

Consumption C=2'10 + 0.80Y,/; Y,/= Y T

lnYestment | = 480 -.6i

Covemment expenditure C = 120

T = 150

Price level

Nominal Money Supply M:900

Demand for money L 
.= 

0.2Y-4i

Full employment level of income Y/. = Rs. 3,000. (

(0 Compute the Monetary and Fiscal policy multipliers.

(i, Compute the in'crease in the nominal supply of

' money reqi.rired to achieve full employment.

(iii) Compute the increase in government expenditure

required to achieve full employment. 322

(r)

(5) &,s7

Find the equilibrium rate of interest and national

savings. 3

Now suppose the government reduces the taxes

to 500. Compute by how much amount do the

following change : disposable income,

consumption, investment and national savings due

to fall in the tax. 4

(i,

(s{) qH Eifsc f+- sfi s{ + dtrr B$kI qiqn
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- (6)
C=25A+0.5(Y-T)
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Explain how the national wealth of a country can

.change ? 3

What is a mpney multiplier ? Suppose an economy has

a moneury base of $ 20 million. Calculate money supply

in the following situations :

(r) All the money is held as demand deposits and

banks hold 20 percent of their deposits as reserves. (

(rr) All tfre money is held as currency. 5

(0 Dehne budget surylus. What does negative budgel

surplus means ? Explain using suitable diagram. 3

(r) Explain the effect of increase in government

purchase on budget surplus. . 4

( ll ) 4457

M/P:Y [0.4 - (r + expected inflation)

qtf qi+ff*- 3nq G) = 4,ooo w+
qrKfus, dilq <r (r) = 8 yfrvn
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12 yid{rfr tr wr q6 +fi,'q * q{rq{ t?
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(a) Explain how each of the following nansactions would

enter the balance of payment account of India : 3

0) The Reserve Bank oi lndia purchases dollars and

sells rupee to American bank.

(ir) Indian horel is sold to ltalian investor.
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(b)

(c)

( sr)

(q)

. ( r0.) y1,
Assume that the deniLand for real money balances is

represenled by the following : 32

M/P:Y [0.4 - (r + expected inflation)

Where: Nominal lncome (Y) = Rs.4,000

Real interest rate (/,) = 8 percent

Expected inflation : 12 percent is constant in short-run

(r) Calculate Seignorage, if the rate of growth of

noininal money is 20 percent forever

(r) Calculate the inflation tax when actual inflation

equals l2 percent. ls it equal to Seignorage ?

(0 What is liquidity trap ? Is monetary policy

ineflective in this case ? 3

(ir) Explain why the income tax system or social

securily system are considered automatic

' stabilizers ? 4

c*' t{r * grfli Y}s d qq qt * qro
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The following data is given for an economy for the

year 2015. How each ofthe following transactions would

affect the GDP and why ? 3

(r) Rs. 20 lakh is paid as interest on the national debt.
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(8) 4457

(lr) Ice-cream maker began the year with hs. 10,000

wonh of milk in his factory and ar the end of

the year he is holding Rs. 1t.000 worrh of mill.

(b) Suppose a bond pays $ t000 in one year

(,) Calculate the pricerf the bond when interest rate

is (, 5 percent and (it) l0 percent. 2

(r, What will be rate of interest if the price of bond

is$500and $800? 3

(c) (r). What do you mean by crowding out ? Exilain

using a suitable diagram. 3

(10 When rhe demand for real money balances is less,

. responsive to the rate of interest, crowding out

is more. Explain using suitable diagram. 4

(3I) qd 201s ti qs 3r+q*e{r g' feq Fmftrfu-r

3tr6.g fqC rrq tt ffifun ii t ydq cop
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(s) qd ed t qan fr r,ooo srm{ qi 6l qq{
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(,,) qE{ sIRfus lqT lis + fdq rf,r qrq <{
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q-qti qrgq offir
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5. (a) What are components of current account of the Balance

of Payment of a country 2 3
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